FRONT ELEVATION SIDE _ELEVATION REQUIREMENT FOR ONE TOWER:

®
s
2
23 Weight (finished
Numb ; 2 i
§ Drowing Title Drowing ofw\:‘ni:; Weight (kq) Painting (m?) Golvonized (kg)
e e required [Per unit totel per unit| total |[per unit| total
. Holes for attaching wire rope to hold
° Te . .84 sl
=W Yo =3 : Windguy Stay Strat  (1f required ) ower Base Element 103 | 299.86 | 299.86| 8.84 | 8.84 |272.72{272.72
x z
S-2 2 o Moin cobles Tower Intermediote Element| 113 7 699.48 [4896.36 |23.94 [167.58 |657. 93/460551
Tower Top Element 126 I 535.70 [535.70 |17.20 | 17.20 [476.75(-476 .75
i3
¥ * -
T-22] i | Q rs E Tower Saddle 137 ! 177.56 [177.56 [3.26 3.26 |173.21)173.21
i )
o
| \ w Sign  Board 161 | 175 | 1.75 - - - -
I N\ 5 0
! z
P s Grand Total 5911 .23 kg |166.88 m*|[5528.19 kg
4 gl = T-15
>‘<\ // R Summary of Friction Grip Bolt , Nut ond Washer.
\ / s —<::)
K N ;" g 1 Bolt M16X50, including Nut & Washer 480 pe.
o] T-16H{T-17)}{T1-18 -9}{1-10)1-14 : 2 =
f' ! | i ¢ Bolt M20 X 60, including Nut & Washer. 782 pc
®7 : / i Bolt M24X65, including Nut 8 Washer. 50 pc.
| \ : Bolt M20 XI30, inchuding Nut & Wosher. 9 pe.
Y /
Total weight of Bolt, Nut, Washer. 381.26 kg.
\ 1-1){F12){1-13 *
4 / Steel Parts to be Galvanized. 5909.48 kg.
1-1 ]
{ 450 750
452F _‘
I-11 I I AN
G NN £ 7
T-12 l E
I~ 7 \ ~ =
N Z " > g
1-13 B i [\ N\ 3 1-9){1-10){1-14
4% '» ¢l © : N
A s | o NN i
N\ \ / ¥ ~ m i 7
- 7 NOTES:
SN . ":E GENERAL ARRANGEMENT 1) Al nongalvanized threads have to be painted in site with
J _L 4 4 + ~ ') 74 cooltar  aofter retightening of the nufs.
" ; w 2) Al steelparts have 1o be painted with final coat ofter
| 2 I 2 Moin cables this side o bridge erection, only if not Galvanized.
I-9 ) 5 ~ \ ’ i 3) Al nuts have fo be fightened fo proper ftorque:—
+F i 5 ) # 16mm: 20mkg; ¢ 20mm : 40mkg.
! & ¢ @©
1-10 e 3 o
! I o
] N S | ot ©
14 / . 2
\\ 1-3 / é x
@
\ 2 2
V \\ ‘.E’, 4 Angles 1007100/ 8mm ~
ol §
o 2
Sign board 1-4 M © TOTAL TRANSPORTATION WEIGHT : 5911.23 kg
13 5 b
% (Ref. dr. no. 161) i 5 s
L (S ~
= 0
5 ©0 o~
4 / \ i 21 ©
f "
=]
1-2 \ \ - 2 Channels 75/ 40
©0
3 o0
K + g
1+ 3 el
R HEH |
S | & il : g
w [
B-8 s P
B-3 B-1 8| o
- 0
! 8-9 HI ©
o [ . . .
k3
/ - £ g MoLD / DoLIDAR / Trail Bridge Section
B-0 2 . ]
% Top of Tower Foundation i iy z ) Long Span Trail Bridge Standard
i B i B 5 2
i
SIS Bridge No: Name:
"P Foundation Bold
B-5HB-68B-7 4000 Span:
550 | 850 | Steel drawing :
i Assembly of Tower

Tower height : 20.24 m

Standard section : 450 x 750 mm
Angle 100/100/8 mm

4(6) Main cables

c/c,= 4000 mm ; c/c,= 550 mm

Date:  August 2004 Drawing No.151
Produced by HMG/N, Ministry of Local Development, Department of Local Infrastructure Development and Agricultural Roads with the support of the Swiss Government (SDC Nepal) through 4 helwvetas Nepal b
274

Page 1 of 1Drawing No.151




